

# TABLERO

		$\frac{5}{3} \cdot \frac{12}{4} =$	36	$\frac{3}{2} \cdot \frac{4}{5} =$	
		$\frac{3}{4} + \frac{5}{3} - 2 =$		$\frac{2}{5} + \frac{3}{2} \cdot \frac{1}{4} =$	
		$\frac{2}{3} + 2 =$		$\frac{7}{15} - \frac{1}{6} =$	
			29	$\frac{4}{9} + \frac{1}{3} =$	
		$\left(\frac{4}{1} - \frac{3}{2}\right) \cdot \frac{5}{9} =$		$\frac{4}{7} + \frac{4}{9} =$	
				$\frac{8}{7} - \frac{5}{13} =$	
	$\frac{1}{4} \cdot \frac{1}{4} =$	61	$\frac{1}{2} \cdot \frac{10}{2} =$	22	
			$\frac{1}{4} + \frac{2}{3} =$		
				$\frac{1}{4} - \frac{2}{3} =$	
				$\frac{1}{4} + \frac{3}{4} =$	
				$\frac{1}{2} \cdot \frac{4}{3} =$	
				$\frac{1}{2} \cdot \frac{4}{3} =$	
	$\frac{2}{4} \cdot \frac{4}{5} =$	51	50		
				$\frac{1}{4} + \frac{2}{3} + \frac{5}{6} =$	
	$\frac{2}{3} \cdot \frac{4}{5} =$	59	43	25	
				$\frac{1}{3} \cdot \frac{2}{2} =$	
				$\frac{5}{3} \cdot \frac{12}{4} =$	
	$\frac{9}{4} \cdot \frac{1}{3} =$	53	56	12	
				$\frac{4}{3} - \frac{2}{3} =$	
				$\frac{3}{5} - \frac{9}{2} =$	
				$\frac{4}{9} + \frac{1}{3} =$	
				$\frac{4}{1} - \frac{1}{3} =$	
				$\frac{8}{3} \cdot \frac{1}{3} =$	
	$\frac{9}{4} + \frac{1}{3} \cdot \frac{2}{5} =$	61			
				$\frac{3}{2} + \frac{2}{5} \cdot \frac{1}{4} =$	
				$\frac{3}{9} + \frac{1}{8} - \frac{1}{8} =$	
	$\frac{2}{5} \cdot \left(\frac{9}{4} - \frac{1}{3}\right) =$	63	5		
				$\frac{3}{8} - \frac{5}{3} + \frac{1}{6} =$	
				$\frac{1}{3} \cdot \left(\frac{-8}{3}\right) =$	
				$\frac{9}{2} + \frac{3}{5} - \frac{3}{10} =$	
				$\frac{1}{5} \cdot \frac{1}{(-4)} =$	
				$\frac{-8}{3} \cdot 3 =$	
	$\frac{3}{5} + \frac{4}{3} =$	68	1		